BINARY REGRESSION

The responte voulobte Yi & a bnary v (Takes only 3 volues ).
This kinel § seing con be Jourdl invodouy Woclies : the 2 WiKes e RPRRAT, €9-,
preance [ obsnce , Wess/ follure | otie/dead , .-

The doke con be ofpovidest inle & diffensT forms:
3. UNGROUPED : %he RSpoNie veelon i3 The oulpul of each Lot Wit =D 6?""'}

L. Coovped + X [for cach combinotion of tie covovoles | cbiuve fewerol waits, ic 43 posyber
To oggregole e ol by summing e #-3 4 o © fou caclh combination.

( grouped dola con bt conwelod U0 tha unfrouped form )

Exampte « Bett dota. Wusly on The Jliacy o o beelee poison for luieting beeltes

x: = (8 ) dox o} paiton
VR .. §® P the i-th beell is alie
untroupeat data. :  Yi & Jo sy Ty i the i-bh beett. i3 dead

deod / olive o 4 .. © o ... 4 A .. o i

B

&f (dore) 1.69  1.6% ... 4,69 1.%u ... 1.¥3 ... 1.98 ... 4.38 4.89
\_,___\f‘_/ ~ < —~——— /

The expenment hax beon run on sevensl beelRes fou ooy ooy : | con cou™ Wew mony beetns

are oleod ov QRWE gor each Cevel. [ oblain Tw proupwl dela-
# kiCead (4) 6 L S L
# ofive (0) 53 y . o notice: JThe rumber of beelles to,- each
Qevel X neest nof be The Same
Cog (dow.) 469 432 ... 4.9 %t

For the ungroupeo da¥a., o reasorolele wmoolel & te Bemoulls
¥ = Bom(rx)
. poromDw space: T € [0,1] ® = P(Ys4) is o probabibivg
. wppow s Y= 017
- prokobltiyy mass function (3 i Y R(Y=9) = w? (4 Y
* momenge: ELYJ=w, volY¥)= ® (U-«)

For m grouped dafe, we Would uk o binomial (mere aboul iC Gorr).

« BINARY REGRGSSIGN : ASSOKPTIONS with UNGROUPED DATA
3. i e Bernowhi ()  indepmoles L=y R
henee o= ELYel s P(Ye=4), we[o1]
2 M= Puxa ¢t Bpxp = XC P
3 9(m)= W

Remeories »

. LINK Funcnon
QHS model the HEAN of the random vorlbls: hee [ELY:)= M, which i atse P(Yi=4).

W i o probobiely » we[ot1]. However, N ER D 9 goutd be o fundion Tt meps [01] — R,
invebte (and Lffereniiclle). For vmpticing, iC & uwolll etwirel monsone increasip. Commov choiseS ore
- §(w) = eq(f_%-u) Logisnc Qunction (Wence Ha " €opighe VeI ™ this iS The coronicol &ink )

(iwerwe of che divtnbuxion funchon of the ecpithe ditnbuxien)

- 9(w)e F-4(m)  PRoBIT funwwon, whae 4 i3 the divionbution funcho. of & Gautror i~

* VARIANCE
The Bemoutli dithbusion aswmes val(Y:)es w(-w) = E[%] (4- EL%D).
Hence, again, S vervlam voucbeed ore nel homosceclasbe .



